
https://www.certbus.com/c2090-612.html
2024 Latest certbus C2090-612 PDF and VCE dumps Download

 

 

 

C2090-612Q&As

DB2 10 DBA for z/OS

Pass IBM C2090-612 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.certbus.com/c2090-612.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C2090-612 PDF Dumps | C2090-612 VCE Dumps | C2090-612 Study Guide                                1 / 6

https://www.certbus.com/c2090-612.html
https://www.certbus.com/c2090-612.html
https://www.certbus.com/c2090-612.html


https://www.certbus.com/c2090-612.html
2024 Latest certbus C2090-612 PDF and VCE dumps Download

QUESTION 1

What is the one significant difference between sequence objects and identity columns? 

A. Identity columns can cache values and sequence objects cannot. 

B. Identity columns can be defined on tables and sequence objects cannot. 

C. Sequence objects can have a character data type and identity columns cannot. 

D. Sequence object values can be used as primary keys and identity column values cannot. 

Correct Answer: B 

 

QUESTION 2

Workload Manager (WLM) manages how many concurrent stored procedures can run in an address space and the
number of concurrent stored procedures in an address space cannot exceed the value of the NUMTCB parameter.
Which statement about the value of NUMTCB is correct? 

A. NUMTCB parameter must be set to 1 for Java stored procedures. 

B. NUMTCB parameter must be set to 1 for REXX stored procedures. 

C. NUMTCB parameter can be a value greater than 1 for native SQL stored procedures. 

D. NUMTCB parameter can be a value greater than 1 when a stored procedure invokes DB2 utilities. 

Correct Answer: B 

 

QUESTION 3

Which DB2 performance feature is designed specifically to reduce the number of indexes that need to be created? 

A. Inline LOBs. 

B. Include columns. 

C. Hash row access. 

D. Direct row access. 

Correct Answer: B 

 

QUESTION 4

Which of the following techniques CANNOT be used to implement DB2 based row level authorization in a read-only
environment for a specific table? 
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A. Using a view. 

B. Using a VALIDPROC. 

C. Using multi-level security. 

D. Using masks and permissions. 

Correct Answer: B 

 

QUESTION 5

Which of the items listed below is NOT a prerequisite for using CURRENT EXPLAIN MODE? 

A. The dynamic statement cache is enabled. 

B. The client application contains some explainable statements. 

C. The PLAN_TABLE and DSN_STATEMENT_CACHE tables must be created using a EBCDIC encoding scheme. 

D. Both PLAN_TABLE and DSN_STATEMENT_CACHE_TABLE exist on the DB2 server and the table names are
qualified with the current SQLID that is used when running the application. 

Correct Answer: C 

 

 

QUESTION 6

What is the purpose of the following query? SELECT DBNAME, NAME FROM SYSIBM.SYSTABLESPACE TS WHERE
NOT EXISTS (SELECT TP.DBNAME, TP.TSNAME FROM SYSIBM.SYSTABLEPART TP WHERE TP.DBNAME =
TS.DBNAME AND TP.TSNAME = TS.NAME); 

A. It displays the number of inconsistent rows in SYSIBM.SYSTABLESPACE. 

B. It identifies which tables do not have related rows in SYSIBM.SYSTABLEPART. 

C. It identifies which table spaces have missing related rows in SYSIBM.SYSTABLEPART. 

D. It displays which rows in SYSIBM.SYSTABLEPART do not have a matching table name in
SYSIBM.SYSTABLESPACE. 

Correct Answer: C 

 

QUESTION 7

The following DDL statements are executed to create the following objects: CREATE TABLESPACE TS1
BUFFERPOOL BP0 IN DB1; CREATE TABLE USER1.TB1 ( COL1 INTEGER, COL2 VARCHAR(10) ) IN DB1.TS1;
CREATE INDEX USER1.IX1 ON USER1.TB1 ( COL2 ) BUFFERPOOL BP0 COPY YES; Next, the following ALTER
statements are done (in order): 1) ALTER TABLESPACE DB1.TS1 BUFFERPOOL BP8K0 MAXPARTITIONS 20; 2)
ALTER TABLESPACE DB1.TS1 SEGSIZE 64; 3) ALTER INDEX USER1.IX1 BUFFERPOOL BP16K0; Which of the
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following will materialize all of the changes with the least amount of work? 

A. Nothing needs to be done. 

B. REORG INDEX USER1.IX1 SHRLEVEL CHANGE 

C. REORG TABLESPACE DB1.TS1 SHRLEVEL REFERENCE 

D. REORG TABLESPACE DB1.TS1 SHRLEVEL REFERENCE REORG INDEX USER1.IX1 SHRLEVEL CHANGE 

Correct Answer: C 

 

QUESTION 8

Which privilege allows the execution of the EXPLAIN STMTCACHE ALL SQL statement? 

A. SYSOPR 

B. SYSCTRL 

C. SQLADM 

D. SECADM 

Correct Answer: C 

 

QUESTION 9

What must be done in order to audit read access to a table? 

A. AUDIT ALL must be set on the table and an audit trace must be started. 

B. An EDITPROC must be defined on the table and an audit trace must be started. 

C. DATA CAPTURE CHANGES must be set on the table and the DB2 log must be captured. 

D. A security label column should be defined on the table within a trusted context. 

Correct Answer: A 

 

QUESTION 10

What WLM action will establish performance objectives for DDF threads and their related address space? 

A. Insure the NUMTCB is set to a value greater than 10. 

B. Specify DDF for the value of APPLENV to the name of the WLM environment. 

C. Execute the WLM_REFRESH stored procedure for the DDF application environment. 

D. Create a WLM service definition that assigns service classes to the DDF threads. 
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Correct Answer: D 

 

QUESTION 11

The frequency of data being changed for several tables in the new Billing application is very unpredictable. A different
approach to manage Runstats for these objects is desired. To provide additional information on update patterns for the
new Billing Application, the DBA can use what information to better understand the unpredictable workload patterns on
the tablespaces? 

A. SYSIBM.SYSCOPY 

B. SYSIBM.SYSSTATS 

C. SYSIBM.SYSTABLES 

D. SYSIBM.SYSTABLESPACESTATS 

Correct Answer: D 

 

QUESTION 12

Which connection type can exploit trusted connections? 

A. IMS 

B. CAF 

C. CICS 

D. RRSAF 

Correct Answer: D 

 

QUESTION 13

Unnecessary REORGs of indexes may be avoided by which of the following? 

A. Use the SYSIBM.SYSINDEXSPACESTATS table. 

B. Use the REPORT utility to determine the degree of organization. 

C. Use the CHANGELIMIT keyword when creating an image copy of the index. 

D. Use the CHECK INDEX utility to find out if the index needs to be reorganized. 

Correct Answer: A 

 

QUESTION 14
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For which table type could you specify ALTER TABLE tb1 DATA CAPTURE CHANGES? 

A. Catalog tables 

B. Directory tables 

C. Auxiliary tables 

D. Declared global temporary tables 

Correct Answer: A 

 

QUESTION 15

Your table space DB1.TS1 is currently index-partitioned. Which steps should be performed at a minimum to make it a
partitioned-by-range table space? 

A. Issue ALTER TABLESPACE with a valid SEGSIZE > 0 

B. Make the table space table-partitioned, then issue ALTER TABLESPACE with a valid SEGSIZE > 0 

C. Drop the partitioning index, ALTER the table definition by adding partition ranges to the existing table definition, then
issue ALTER TABLESPACE with a valid SEGSIZE > 0 

D. Drop the partitioning index, ALTER the table definition by adding partition ranges to the existing table definition,
create a partitioned index and issue ALTER TABLESPACE with a valid SEGSIZE > 0 

Correct Answer: B 
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